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§5 BEHREME
HIPOETITRrtHTAEHERLD ¢(—H OER 577, K2hoXK8FTTRIND
DREABRENR LB DTH 3. EnERFER B.5) »oRDibDTHE0E, ZRIKPE

IR EDZBRIA - THIRD,

*1

R1=2.010cm, R2=4.000cm, 21=0, %2 R;=2.010cm, R2=4.000cm, Q=
92=19~9$, H=22.070cm, g= 2.9 1 9=19.9-1, H=22.065
sec sec

979.715‘;’0’1. £=24.9°C(%H) D& em, g=979.71 ;“;2 $=295.2°C (%

& O H . ) Ok s0HEBER.
COTN e ) [ O v || ILC O S v I C Cﬁ%{gcml
2.010 —0.486 3.050 —0.194 2.010 —0.554 3.050 —-0.191
2. 050 —0.486 3.100 —0.157 2.050 —0.553 3.100 —0.151
2.100 —0.486 3.150 —0.118 2.100 —0.551 3.150 —0.109
2.150 —0.485 3.200 —0.077 2.150 —0.548 3.200 —0.065
2.200 —0.483 3.250 —0.033 2.200 —0.544 3.250 —0.018
2.950 —0.481 3.300 +0.013 2.250 —0.538 3.300 +0.031
2.300 —0.477 3.850 +0.061 2.300 —0.531 3.350 +0.082
2.350 —0.471 3.400 +0.112 2.350 —0.522 3.400 +0.135
2.400 —0.464 3.450 +0.165 2.400 —0.512 3.450 +0.190
2.450 —0.456 3.500 +0.221 2.450 —0.499 3.500 +0.248
2.500 —0.445 3.550 +0.279 2.500 —0.485 3.550 +0.308
2. 550 —0.433 3.600 +0.339 2.550 —0.469 3.600 +0.370
2.600 —0.419 3.650 +0.402 2.600 —0.450 3.650 +0.434
2.650 —0.403 3.700 +0.467 2.650 —0.430 3.700 +0.501
2.700 —0.384 3.750 +0.535 2.700 —0.408 3.750 +0.570
2.750 —0.364 3.800 +0.605 2.750 —0.383 3.800 +0.641
2.800 —0.341 3.850 +0.678 2.800 —0.357 || . 3.850 +0.714
2.850 —0.316 3.900 +0.753 2.850 —0.328 3.900 +0.789
2.900 —0.289 3.950 +0.830 2.900 —0.297 - 3.950 +0.867
2.950 —0.260 4.000 4+0.910 2.950 —0.264 4.000 +0.946
3.000 —0.228 3.000 —0.228
roGn) i en| T | o | 7 i ) T O i on
2.110 —0.590 3.010 —0.220 2.110 —0.640 3.010 —0.220
2.210 —0.640 3.110 —0.100 2.210 —0.685 3.110 —0.110
2.310 —0.635 3.210 +0.020 2.310 —0.680 3.210 +0.005
2.410 —0.610 3.310 +0.135 2.410 —0.655 3.310 +0.135
2.510 —0.585 3.410 +0.260 2.510 —0.630 3.410 +0.280
2.610 —0.535 3.510 +0.415 2.610 —0.560 3.510 +0.410
2.710 —0.470 3.610 +0.535 2.710 —0.495 3.610 +0.545
2.810 —0.400 3.710 +0.665 2.810 —0.410 3.710 +0.700
2.910 —0.315 2.910 —0.325
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42 RBi=2.010cm, Rg=4.000cm,

Q1=0, ©=19.9-1  H=22.070
sec

em, g=979.71- 8 ¢ —=24.9°C
Sec:
(D 0 & xDHBEH.
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38 R{=2.010cm, Ry=4.000cm,

2=2.9-1 Q=199 1 H=
sec sec

22.065cm, g£=979.71-°8 ¢ =
sec2

25.2°C(%FH) @ & &0 HHFE M,
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#*#3 R=2.010cm, R2=4.000cm, Q)= *4 R;=2.010cm, Re=4.000cm, Q1=

6.8—1_ 2,=19.9-1 H=22.045 14.0-1, 9,=19.9-1  H—22.040

sec sec sec sec
em, g=979.71- 9 $=24.7°C (& cm, g=979.71-°2 t=24.8°C (%
sec? sec?

B) oL xoBEBRM. B) ©&x0HEEKNM.
GRCCIN e R CO TS vr ! RGO e vr ) R QLC O g
2.010 —0.666 3.050 —0.185 2.010 —0.932 3.050 —0.166
2.050 —0.660 3.100 —0.140 2.050 —0.915 3.100 —0.113
2.100 —0.655 3.150 —0.094 2.100 —0.893 3.150 —0.057
2.150 —0.647 3.200 —0.045 2.150 —0.869 3.200 —0.000
2.200 —0.637 3.250 40.005 2.200 —0.844 3.250 +0.058
2. 250 —0.626 3.300 +0.058 2.250 —0.817 3.300 +0.118
2.300 —0.613 3.350 +0.112 2.300 —0.788 3.350 +0.179
2.350 —0.598 3.400 +0.169 2.350 —0.758 3.400 +0.242
2.400 —0.581 3.450 +0.227 2.400 —~0.726 3.450 +0.306
2.450 —0.562 3.500 +0.288 2.450 —0.692 3.500 +0.372
2.500 —0.542 3.550 +0.350 2.500 —0.657 3.550 +0.439
2.550 —0.519 3.600 +0.415 2.550 —0.620 3.600 +0.508
2.600 —0.495 3.650 +0.481 2.600 —0.582 3.650 +0.578
2.650 —0.468 3.700 +0.519 2.650 —0.542 3.700 +0.649
2.700 —0.440 3.750 +0.620 2.700 —0.500 3.750 +0.722
2.750 —0.409 3.800 +0.692 2.750 —0.457 3.800 +0.797
2.800 —0.377 3.850 +0.766 2.800 —0.413 3.850 +0.873
2.850 —0.342 3.900 +0.842 2.850 —0.367 3.900 +0.950
2.900 —0.306 3.950 +0.920 2.900 —0.319 3.950 +1.029
2.950 —0.268 4.000 +1.000 2.950 —0.270 4.000 +1.109
3.000 —0.227 3.000 —0.219
roem) | o] T | | | 7™ (i e T O |, om
2.110 —0.705 3.010 —0.200 2.110 —0.875 3.010 —0.190
2.210 —0.705 3.110 —0.095 2.210 —0.855 3.110 —0.075
2.310 —0.695 3.210 +0.050 2.310 —0.825 3.210 +0.060
2.410 —0.680 3.310 +0.165 2.410 —0.775 3.310 +0.195
2.510 —0.635 3.410 +0.285 2.510 —0.700 3.410 +0.350
2.610 —0.560 3.510 +0.430 2.610 —0.615 3.510 +0.490
2.710 —0.485 3.610 +0.575 2.710 —0.520 3.610 +0.635
2.810 —0.400 3.710 +0.730 2.810 —0.420 3.710 +0.795
2.910 —0.310 2.910 —0.310
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X4 R;=2.010cm, Rs=4.000cm,

Q1=6.8-1  @,=19.9-1  H=
sec sec

22.045em, g=979.71 % ¢ =
sec2

24.7°C(ZR) O & =D HFEE.

Z-H
cm

05

- 05

20 25 30 / X r
(cmy

M5 R1=2.010cm, Rg=4.000cm,
Q=14.0-1  9,=19.9-1  H=
sec sec
22.040cm, £=979.71-%2 ¢ =
sec:
24.8°C(ZHE) D & =0 HBEM.
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#5 R1=2.010cm, Ro=4.000cm, Q= 76 R;=2.010cm, Rg=4.000cm, Q=

19.9- 1 0,—19.9-1  H=22.050 28.0-1, 2=19.9- 1 H=22.045

sec sec sec sec
em, g=979.71- 2 £=295.4°C (4% em, g=979.71-22, t=25.4°C (5%
sec2 sec?

i) O & x o mEm. ) & & o hKm.
r Cem) ’(f@%{ﬂf cm>l P e g o | T |Gty omy| T ™ (et om
2.010 —1.209 3.050 —0.145 2.010 —1.674 3.050 —0.106
2.050 —1.176 3.100 —0.083 2.050 —1.610 3.100 —0.031
2.100 —1.134 3.150 —0.020 2.100 —1.531 3.150 +0.043
2.150 —1.091 3.200 +0.044 2.150 —1.452 3.200 +0.118
2.200 —1.047 3.250 +0.110 2.200 —1.375 3.250 +0.193
2.250 —1.002 3.300 +0.176 2.250 —1.298 3.300 +0.269
2.300 —0.956 3.350 +0.243 2.300 —1.222 3.350 +0.345
2.350 —0.909 3.400 +0.311 2.350 —1.146 3.400 +0.421
2.400 —0.861 3.450 +0.380 2.400 —1.071 3.450 +0.497
2.450 —0.812 3.500 +0.451 2.450 —0.996 3.500 +0.574
2.500 —0.762 3.550 +0.522 2.500 —0.921 3.550 +0.651
2.550 —0.711 3.600 +0.59%4 2.550 —0.847 3.600 +0.728
2.600 —0.659 3.650 +0.667 2.600 —0.773 3.650 +0.806
2.650 —0.606 3.700 +0.742 2.650 —0.699 3.700 +0.884
2.700 —0.552 3.750 +0.817 2.700 —0.625 3.750 +0.962
2.750 —0.497 3.800 +0.893 2.750 —0.551 3.800 +1.041
2.800 —0.441 3.850 +0.971 2.800 —0.477 3.850 +1.120
2.850 —0.384 3.900 +1.049 2.850 —0.403 3.900 +1.200
2.900 —0.325 3. 950 +1.128 2.900 —0.329 3.950 +1.280
2.950 —0.266 4.000 +1.209 2.950 —0.255 4.000 +1.361
3.000 —0.206 3.000 —0.180
e i ) T i an| | 7O | ) T ™ e,
2.110 —0.970 3.010 —0.205 2.110 -1.125 3.010 —0.120
2.210 —0.970 3.110 —0.065 2.210 —1.085 3.110 +0.020
2.310 —0.930 3.210 +0.050 2.310 —0.995 3.210 +0.150
2.410 —0.865 3.310 +0.205 2.410 —0.900 3.310 +0.290
2.510 —0.785 3.410 +0.355 2.510 —0.790 3.410 +0.420
2.610 —0.690 3.510 +0.490 2.610 —0.665 3.510 +0.570
2.710 —0.580 3.610 +0.635 2.710 —0.530 3.610 +0.710
2.810 —0.460 3.710 +0.790 2.810 —0.395 3.710 +0.855
2.910 —0.340 2.910 —0.270
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X6 R;=2.010cm, Rz=4.000cm,

Q=19.9-1  2=19.9 1  H=
sec sec

22.050cm, g=979.71 2, ¢t =
sec2

25.4°C(53R) @ & = o 1.

o
W

05

(cm)

-20

M7 R1=2.010cm, Rg=4.000cm,
2;=28.0- 1 2=19.9 1  H=
sec sec

99.045cm, g£=979.71- 2, t=
Ssec:
95.4°C(=2 ) d & X o [,



%7 Ry=2.010cm, Bp—4.000cm, Q(= o
36.1-1, 23=19.9- 1 H=22.050
sec sec 0
cm, g=979.71-92 $=26.7°C (%% x
8sec:
T O & &0 FIET. {
05 x
r e i )| T i, om
2.010 —2.238 3.050 —0.056 0 5 —
2.050 —2.133 3.100 +0.032 (cm
2.100 —2.005 3.150 +0.119
2.150 —1.881 3.200 +0.206 | -5
2.200 —1.760 3.250 +0.292
2.250 —1.643 3.300 +0.377
2.300 ~1.529 3.350 +o.462 | -1
2.350 —1.418 3.400 +0.546
2.400 —1.309 3.450 +0.630 waE
2.450 ~1.203 3.500 +0.713 | -1s Y
2.500 —1.098 3.550 +0.796
2.550 —0.996 3.600 +0.879
2.600 ~0.896 3.650 +0.961 | -2
2.650 —0.797 3.700 +1.043
2.700 ~0.700 3.750 +1.125
2.750 —0.605 3.800 +1.207
2.800 ~0.510 3.850 +1.288
2.850 —0.417 3.900 +1.369
2.900 —0.325 3.950 +1.450 M8 Ey=2.010cm, Ep=4.000cm,
2.950 —0.235 4.000 +1.531 2=36.1-1, 2,=19.9- 1 H=
3.000 —0.145 see see
22.050cm, g=979.71-"%, ¢ =
z—H 2—H sec?
rolem) e, emy| "™ U, om) 26.T°C(RIR) D & & 0 H A,
2.110 —1.805 3.010 —0.100
2.210 —1.270 3.110 +0.060
2.310 —1.165 3.210 +0.210
2.410 ~1.020 3.310 +0.380
2.510 —0.865 3.410 +0.500
2.610 —0.735 3.510 +0.660
2.710 —0.570 3.610 +0.805
2.810 —0.420 3.710 +0.935
2.910 ~0.255 |
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7:8 R;{=2.010cm, Re=4.000cm, 92:19.9%, H=22.080cm, g=979.71
Se
om t=25.6°C () D& XD QT 5 Re—Ry.

sec2’

1 Rc—Ry ( 1 Rc—Ry 1 l\ Rc—Ry ( 1 Re—Ry
= ( sec ) (ﬁ}fﬁﬁﬁy cm) $h sec ) (EEEH%{E: cm) = ( sec ) l(i(ﬂ[“ﬁ: cm) 1 sec ) (%?EJHE, cm)
0 1.277 78.8 0.938 0 1.210 *22.6 1.250
2.9 1.259 > 0.739 2.9 1.235 25.7 1.175
6.8 1.235 6.3 1.210 27.8 7 1.120
14.0 1.190 9.5 1.210 31.4 1.035
19.9 1.155 13.5 1.215 34.2 1.035
28.0 1.111 16.0 1.185 37.7 1.015
36.1 1.072 19.2 1.190 41.9 1.000

50.0 1.016 22.6 1.185
R 1
15
»\!\?\ ,(,,\_3’_“\!’\ : N
X
10 x x x ;\_.

as

9 Ry=2.010cm, Rg=4.000cm, 92:19.9%,
S

H=22.080cm, g=979.71-2 ¢ = 25.6°C
sec2
@) DEED Q ITHRT 5 Re—Ry,
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1) G. I Taylor: Phil. Trans A 223 (1923) 289.

2) C.C.Lin: The Theory of Hydrodynamic Stability (Cambridge Univ., 1955).
3) D.Coles: J.Fluid Mech. 21 (1965) 385.

4) J.L. Synge: Proc. Roy. Soc. A 167 (1938) 250.




